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Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define difference equation with any one suitable example.

¤fl¬øÈ¬ Œ˚ Œfl¬±ÀÚ± Î¬◊±˝ı˛Ì ¸˝À˚±À· øÎ¬Ù¬±Àı˛k ¸˜œfl¬ı˛ÀÌı˛ ¸—:± ±›/

(b) Explain the meaning of order and degree of a differential equation with suitable examples.

øÎ¬Ù¬±Àı˛øk˚˛±˘ ¸˜œfl¬ı˛ÀÌı˛ Sê˜ ¤ı— ˜±S± ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛ Î¬◊¬Û ≈̊Mê Î¬◊±˝ı˛Ì¸˝À˚±À· ı…±‡…± fl¬Àı˛±/

(c) What is meant by a solution or integral of a differential equation?

¤fl¬øÈ¬ øÎ¬Ù¬±Àı˛øk˚˛±˘ ¸˜œfl¬ı˛ÀÌı˛ ¸˜±Ò±Ú ı± ˝◊øKÈ¬¢∂±˘ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(d) Give an example of non-zero sum game.

Œ˚±·Ù¬˘ ˙”Ú… Ú˚˛ ¤˜Ú Sêœh¬±ı˛ ¤fl¬øÈ¬ Î¬◊±˝ı˛Ì ±›/

(e) What are different parts of a Linear Programming Problem?

¤fl¬øÈ¬ ¸ı˛˘Õı˛ø‡fl¬ Œ√õ∂±·Ë±ø˜—-¤ı˛ øıøˆ¬iß ’—˙&ø˘ fl¬œ fl¬œ∑

(f) Write down two basic features of a ‘two-persons-zero-sum’ Game.

¤fl¬øÈ¬ ëÈ≈¬-¬Û±˙«Ú-øÊÀı˛±-¸±˜ƒí Sêœh¬±ı˛ ≈øÈ¬ ˜”˘ Δıø˙©Ü… Œ˘À‡±/

(g) What is meant by Saddle Point in a Game?

¤fl¬øÈ¬ Sêœh¬±˚˛ ë¸…±Îƒ¬˘ƒ øıj≈í ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(h) If a
ij
 represents the minimum requirement of commodity i per unit of output of commodity

j, then state Hawkins-Simon conditions for two industries—industry 1 and industry 2.

j-Ó¬˜ ^Àı…ı˛ ¤fl¬ ¤fl¬fl¬ ΔÓ¬øı˛ fl¬ı˛ÀÓ¬ j-Ó¬˜ ^Àı…ı˛ Ú”…ÚÓ¬˜ ¬Ûøı˛˜±Ì aij √õ∂À˚˛±ÊÚ ˝À˘ Hawkins-Simon

˙Ó«¬&ø˘ Î¬◊À{°‡ fl¬Àı˛±, Œ˚‡±ÀÚ Œfl¬ı˘˜±S ≈øÈ¬ ø˙äñø˙ä 1 ¤ı— ø˙ä 2 ’±ÀÂ/
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(i) What is meant by maximax principle of optimal decision making?

fl¬±˜… ø¸X¬±ôL√ ·Ë˝ÀÌı˛ Œé¬ÀS ˜…±ø'˜…±' ¬ÛX¬øÓ¬øÈ¬ fl¬œ∑

2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Solve the following Linear Programming graphically mentioning the feasible region and
basic solutions.

øÚÀ•ßı˛ ¸ı˛˘Õı˛ø‡fl¬ Œ√õ∂±·Ë±ø˜— ˜ÀÎ¬˘øÈ¬ı˛ Œé¬ÀS øÙ¬øÊıƒ˘ƒ ’=¡˘ ¤ı— Œıø¸fl¬ ¸˜±Ò±Ú&ø˘ Î¬◊À{°‡ fl¬Àı˛
Œ˘‡ø‰¬ÀSı˛ ¸±˝±À˚… ¸˜±Ò±Ú fl¬Àı˛±/

Minimize 2 3 ,
Subject to 5 5 20

and, 5 10 30,
, 0

C x y
x y
x y
x y

 
 
 


(b) State the relationships between Primal and Dual of a Linear Programming model. Write
down the Dual of the problem given below:
¸ı˛˘Õı˛ø‡fl¬ Œ√õ∂±·Ë±ø˜—-¤ı˛ Œé¬ÀS √õ∂±˝◊˜±˘ ¤ı— Î≈¬…˚˛±˘-¤ı˛ ˜ÀÒ… ¸•Ûfl«¬&ø˘ Î¬◊À{°‡ fl¬Àı˛±/ øÚÀ•ß √õ∂M
˜ÀÎ¬˘øÈ¬ı˛ Î≈¬…˚˛±˘ Œ˘À‡±/

Max 4 7
Subject to 2 4

5 3 7
, 0

Z x y
x y
x y
x y

 
 
 


(c) Write down the assumptions of Leontief’s static open Input-Output model.
ø˘›ÚøÈ¬À˚˛ÀÙ¬ı˛ à¬…±øÈ¬flƒ¬ ›À¬ÛÚ ˝◊Ú¬Û≈…È¬-’±Î¬◊È¬¬Û≈…È¬ ˜ÀÎ¬À˘ı˛ ’Ú≈Ò±ı˛Ì±&ø˘ Œ˘À‡±/

(d) Determine the maximin and minimax value of the pay-off matrix given below and suggest
optimum strategies for individual players separately.

ÚœÀ‰¬ı˛ pay-off ˜…±øÈ¬™' ŒÔÀfl¬ maximin ¤ı— minimax ˜±Ú øÚÌ«˚˛ fl¬Àı˛± ¤ı— ¬Û‘Ôfl¬ˆ¬±Àı Œ‡À˘±˚˛±h¬
A ¤ı— Œ‡À˘±˚˛±h¬ B-¤ı˛ ÊÚ… ¸Àı«±M˜ Œfl¬Ã˙˘ øÚÀ«˙ fl¬Àı˛±/

Player B

2 9 4
Player A 7 5 3

6 1 8

 
 
 
  
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(e) Explain Hurwicz criterion of decision making with the help of the pay-off matrix given
below, assuming the probability of occurence of maximum 0·6 and probability of occurence

of minimum 0·4.

ÚœÀ‰¬ı˛ pay-off ̃ …±øÈ¬™À'ı˛ ̧ ±˝±À˚… ø¸X¬±ôL√ ·Ë˝ÀÌı˛ Hurwicz ¬ÛX¬øÓ¬ ı…±‡…± fl¬Àı˛±, ̊ ‡Ú ̧ ı«±øÒfl¬ ¤ı— ̧ ı«øÚ•ß
pay-off-¤ı˛ ¸y¬±ıÚ± ˚Ô±SêÀ˜ 0·6 ¤ı— 0·4/

1 2
1

2

State of Nature
N N

S 3 –2
Strategies  

S –6 5

 
 
  

(f) If the demand and supply functions are given respectively as, D=5–3P, S=3–2P, find the

time path y price, when 3( )dp D Sdt   and the initial condition given is, P=p0, when t =0.

‰¬±ø˝± ¤ı— ŒÊ±·±Ú ’À¬Ûé¬fl¬ ˚Ô±SêÀ˜ D=5–3P ¤ı— S=3–2P ±À˜ı˛ ·øÓ¬¬ÛÔ øÚÌ«±˚˛fl¬ ¸˜œfl¬ı˛ÌøÈ¬ øÚÌ«˚˛

fl¬Àı˛±, ˚‡Ú, 3( )dp D Sdt    ¤ı— √õ∂±Ôø˜fl¬ ’ı¶ö±˚˛ t =0 ˝À˘ P = p
0
.

3. Answer any one question from the following: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Find out the gross output levels of steel and coal in an economy when the technology matrix

(A) and final demand vector (D) are given below:

◊̋¶Û±Ó¬ ¤ı— fl¬̊ ˛̆ ±ı̨ Œ˜±È¬ Î¬◊»¬Û±Ú øÚÌ«̊  ̨fl¬Àı̨±, ˚‡Ú √õ∂̊ ≈øMê ˜…±øÈ¬™' (A) ¤ı— ‰”¬h¬±ôL√ ‰¬±ø˝± Œ ¬̂"ı̨ (D) øÚ•ßı̨+¬Û–

100
D

20
 

  
 

(b) (i) Find out the saddle point and value of the game for the following pay-off matrix:

1

2

3

A 1 7 3 4
Player A A 5 6 4 5

A 7 2 0 3

 
 
 
  

(ii) Explain the concepts of dominance and Nash Equilibrium. 5+5=10

Steel Coal
˝◊¶Û±Ó¬ fl¬˚˛˘±

Steel 0·2 0·2

Coal 0·4 0·1

A

Player B

B1 B2 B3 B4
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(i) √õ∂M pay-off ˜…±øÈ¬™' ŒÔÀfl¬ ¸…±Îƒ¬˘ƒ øıj≈ ¤ı— Sêœh¬±ı˛ ˜”˘… øÚÒ«±ı˛Ì fl¬Àı˛± –

1

2

3

A 1 7 3 4
 A A 5 6 4 5

A 7 2 0 3

 
 
 
  

(ii) Î¬ø˜Ú…±k ¤ı— Ú…±¸ƒ ˆ¬±ı˛¸±À˜…ı˛ Ò±ı˛Ì± ı…±‡…± fl¬Àı˛±/

ñññññ

Œ‡À˘±˚˛±h¬ B

B
1

B
2

B
3

B
4

Œ‡À˘±˚˛±h¬
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The figures in the margin indicate full marks.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions: 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Mention two poverty alleviation programmes adopted by Indian Government.

ˆ¬±ı˛Ó¬ ¸ı˛fl¬±ı˛ fl¬Ó‘«¬fl¬ ·‘ø˝Ó¬ ≈øÈ¬ ±øı˛^… ”ı˛œfl¬ı˛Ì fl¬˜«¸”‰¬œı˛ Î¬◊À{°‡ fl¬Àı˛±/

(b) Define disguised unemployment.

ÂΩ Œıfl¬±ı˛ÀQı˛ ¸—:± ±›/

(c) Name three institutional sources of rural credit in India.

ˆ¬±ı˛ÀÓ¬ ¢∂±˜œÌ ŸÀÌı˛ øÓ¬ÚøÈ¬ õ∂±øÓ¬á¬±øÚfl¬ Î¬◊»À¸ı˛ Ú±˜ Î¬◊À{°‡ fl¬Àı˛±/

(d) Write down the full form of NABARD.

NABARD -¤ı˛ ¬Û≈Àı˛± fl¬Ô±øÈ¬ Œ˘À‡±/

(e) What is sex-ratio?

ø˘º-’Ú≈¬Û±Ó¬ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) What do you mean by ‘Green Revolution’?

ë¸ı≈Ê øıõ≠ıí ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(g) Mention two small-scale industries in India.

ˆ¬±ı˛ÀÓ¬ı˛ ≈øÈ¬ é≈¬^±˚˛Ó¬Ú ø˙Àäı˛ Î¬◊À{°‡ fl¬Àı˛±/

(h) What do you mean by density of population?

ÊÚ‚ÚQ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

31614/16541 Please Turn Over
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Analyse the defects of Agricultural Marketing in India.

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯ øıSê˚˛ ı…ı¶ö±ı˛ SnøÈ¬&ø˘ øıÀ˙v¯Ì fl¬Àı˛±/

(b) Explain the features of Green Revolution in India.

ˆ¬±ı˛ÀÓ¬ ¸ı≈Ê øıõ≠Àıı˛ Δıø˙©Ü…&ø˘ ı…±‡…± fl¬Àı˛±/

(c) What are the problems of small-scale and cottage industries in India?

ˆ¬±ı˛ÀÓ¬ é≈¬^ › fl≈¬øÈ¬ı˛ ø˙Àäı˛ ¸˜¸…±&ø˘ fl¬œ fl¬œ∑

(d) Explain any two features of Indian economy as a developing economy.

¤fl¬øÈ¬ Î¬◊iß˚˛Ú˙œ˘ ’Ô«ı…ı¶ö± ø˝¸±Àı ˆ¬±ı˛ÀÓ¬ı˛ ’Ô«ı…ı¶ö±ı˛ Œ˚ Œfl¬±ÀÚ± ≈øÈ¬ Δıø˙©Ü… Î¬◊À{°‡ fl¬Àı˛±/

(e) Define Poverty. Discuss the different methods of measuring poverty. 2+3=5

±øı˛À^…ı˛ ¸—:± ±›/ ±øı˛^… ¬Ûøı˛˜±¬Û fl¬ı˛±ı˛ øıøˆ¬iß ¬ÛX¬øÓ¬&ø˘ Î¬◊À{°‡ fl¬Àı˛±/

(f) Analyse the trends in industrial growth in India during the last two decades.

·Ó¬ ≈˝◊ ˙Àfl¬ ˆ¬±ı˛ÀÓ¬ ø˙äÀé¬ÀSı˛ Î¬◊ißøÓ¬ı˛ ·øÓ¬-õ∂fl‘¬øÓ¬ øıÀ˙v¯Ì fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Analyse the growth and trends in National Income and per capita income in India during

the plan period.

¬Ûøı˛fl¬äÚ±fl¬±À˘ ˆ¬±ı˛ÀÓ¬ı˛ Ê±Ó¬œ˚˛ ’±˚˛ › ˜±Ô±ø¬ÛÂ≈ ’±À˚˛ı˛ ı‘øX¬ › ·øÓ¬ õ∂fl‘¬øÓ¬ øıÀ˙v¯Ì fl¬Àı˛±/

(b) Evaluate the progress of Land Reform measures in India.

ˆ¬±ı˛ÀÓ¬ ˆ”¬ø˜ ¸—¶®±ı˛ fl¬±˚«SêÀ˜ı˛ ’¢∂·øÓ¬ı˛ ˜”˘…±˚˛Ì fl¬Àı˛±/

ñññññ
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Course ID : 31614 Course Code : SH/ECO/304/GE-3·2

Course Title: Public Finance

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions of the following: 2×5=10

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by Public Goods?

·Ì^ı… ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(b) What is meant by Incidence of a tax?

fl¬ı˛¬Û±Ó¬ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(c) What is Direct tax?

õ∂Ó¬…é¬ fl¬ı˛ fl¬œ∑

(d) What is Public Finance?

¸ı˛fl¬±øı˛ ı˛±Ê¶§ fl¬œ∑

(e) What is a Regressive Tax?

’ÀÒ±·øÓ¬˙œ˘ fl¬ı˛ fl¬±Àfl¬ ıÀ˘∑

(f) What is Shifting of a Tax?

fl¬ı˛‰¬±˘Ú fl¬±Àfl¬ ıÀ˘∑

(g) What is meant by Public Debt?

¸ı˛fl¬±øı˛ ŸÌ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(h) Write any two sources of revenue of the state government.

ı˛±Ê… ¸ı˛fl¬±Àı˛ı˛ ı˛±ÊÀ¶§ı˛ Œ˚ Œfl¬±ÀÚ± ≈øÈ¬ Î¬◊»¸ Œ˘À‡±/

( 3 ) SH-III/ECO/304/GE-3·2/19



2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is Balanced budget? Differentiate between Fiscal deficit and Budget deficits.

1+4=5

ˆ¬±ı˛¸±˜… ı±ÀÊÈ¬ fl¬±Àfl¬ ıÀ˘∑ øÙ¬¶®±˘ ‚±È¬øÓ¬ › ı±ÀÊÈ¬ ‚±È¬øÓ¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÀ«˙ fl¬Àı˛±/

(b) Make a comparative discussion on the merits and demerits of Direct taxes and Indirect

taxes.

õ∂Ó¬…é¬ fl¬ı˛ ¤ı— ¬ÛÀı˛±é¬ fl¬Àı˛ı˛ &Ì › Œ±¯ ¸•ÛÀfl«¬ ¤fl¬øÈ¬ Ó≈¬˘Ú±˜”˘fl¬ ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) Briefly discuss the Benefit principle of Taxation.

fl¬ı˛ ’±Àı˛±À¬Ûı˛ Œé¬ÀS Î¬◊¬Ûfl¬±ı˛ ı± ¸≈øıÒ±ı˛ ÚœøÓ¬øÈ¬ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) What are the Canons of Taxation?

fl¬ı˛ ÚœøÓ¬ı˛ Canon &ø˘ fl¬œ fl¬œ∑

(e) What are the properties of public good? 2+3=5

·Ì^Àı…ı˛ Δıø˙©Ü…&ø˘ fl¬œ fl¬œ∑

(f) Explain why environment is a Public good.

¬Ûøı˛Àı˙ Œfl¬Ú ·Ì^ı… Ó¬± ı…±‡…± fl¬Àı˛±/

3. Answer any one question of the following: 10×1=10

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Discuss the advantages and disadvantages of Progressive Tax system.

õ∂·øÓ¬˙œ˘ fl¬ı˛ ı…ı¶ö±ı˛ ¸≈øıÒ± › ’¸≈øıÒ±&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) Discuss the burden of internal and external public debt on economy.

¤fl¬øÈ¬ ’Ô« ı…ı¶ö±ı˛ Î¬◊¬Ûı˛ ’ˆ¬…ôLı˛œÌ › ı±ø˝…fl¬ ¸ı˛fl¬±øı˛ ŸÀÌı˛ Œı±Á¬± ¬Û˚«±À˘±‰¬Ú± fl¬Àı˛±/

ñññññ
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Course ID : 31618 Course Code : SP/ECO/301/C-1C

Course Title: Basic Features of Indian Economy

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

The questions are of equal value.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Mention two functions of ‘NABARD’.

Ú±ı±ÀÎ«¬ı˛ ≈øÈ¬ fl¬±Ê Î¬◊À{°‡ fl¬Àı˛±/

(b) Write two main objectives of land reforms in India.

ˆ¬±ı˛ÀÓ¬ı˛ ˆ”¬ø˜¸—¶®±Àı˛ı˛ ≈øÈ¬ õ∂Ò±Ú Î¬◊ÀV˙… Œ˘À‡±/

(c) Define disguised unemployment.

ÂΩÀı˙œ Œıfl¬±ı˛Q fl¬±Àfl¬ ıÀ˘∑

(d) What is Primary sector in any economy?

Œ˚ Œfl¬±ÀÚ± ’Ô«ı…ı¶ö±˚˛ õ∂±Ôø˜fl¬ Œé¬S fl¬±Àfl¬ ıÀ˘∑

(e) Define National Income.

Ê±Ó¬œ˚˛ ’±À˚˛ı˛ ¸—:± ±›/

(f) What do you mean by developing economy?

Î¬◊iß˚˛Ú˙œ˘ ’Ô«ÚœøÓ¬ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

SP-III/ECO/301/C-1C/19
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(g) Mention two causes for low productivity in Indian agriculture.

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯Àé¬ÀS ¶§ä Î¬◊»¬Û±Ú˙œ˘Ó¬±ı˛ ≈øÈ¬ fl¬±ı˛Ì Œ˘À‡±/

(h) Give the full form of ICICI.

ICICI fl¬Ô±øÈ¬ı˛ ¬Û”Ì« Ú±˜ Œ˘À‡±/

2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define green revolution. Mention merits and demerits (two each) of green revolution.

1+2+2=5

¸ı≈Ê øıõ≠ı fl¬±Àfl¬ ıÀ˘∑ ¸ı≈Ê øıõ≠Àıı˛ ≈øÈ¬ fl¬Àı˛ ≈̧Ù¬˘ › fl≈¬Ù¬˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) What do you mean by Per-Capita-Income? Mention briefly the difficulties in estimation

of national Income in India. 1+4=5

˜±Ô±ø¬ÛÂ≈ ’±˚˛ fl¬±Àfl¬ ıÀ˘∑ ˆ¬±ı˛ÀÓ¬ Ê±Ó¬œ˚˛ ’±˚˛ ¬Ûøı˛˜±À¬Ûı˛ ’¸≈øıÒ±&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) Discuss the role of small scale industry for promoting economic development in India.

ˆ¬±ı˛ÀÓ¬ı˛ ’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛ÀÚ é≈¬^ø˙Àäı˛ ˆ”¬ø˜fl¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) What do you mean by land reforms? Write a short note on necessity of land reforms in

Indian economy.

ˆ”¬ø˜¸—¶®±ı˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ˆ¬±ı˛Ó¬œ˚˛ ’Ô«ÚœøÓ¬ÀÓ¬ ˆ”¬ø˜¸—¶®±Àı˛ı˛ õ∂À˚˛±ÊÚœ˚˛Ó¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(e) Discuss briefly the grounds for and against mechanisation of agriculture in India.

2½+2½=5

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯ÀÓ¬ ˚Laœfl¬ı˛ÀÌı˛ ¬ÛÀé¬ › øı¬ÛÀé¬ fl¬±ı˛Ì&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(f) What is the difference between under employment and unemployment? What is the relation

between poverty and unemployment? 3+2=5

’Ò«Àıfl¬±ı˛Q › fl¬˜«˝œÚÓ¬±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬œ∑ ±øı˛^Ó¬± › fl¬˜«˝œÚÓ¬±ı˛ ˜ÀÒ… ¸•Ûfl«¬ Œ˘À‡±/

SP-III/ECO/301/C-1C/19 ( 2 )



( 3 ) SP-III/ECO/301/C-1C/19

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Analyse the problems of agricultural marketing in India. In this context discuss the role

of co-operatives. 6+4=10

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯∏ øı¬ÛÌÀÚı˛ ¸˜¸…±&ø˘ øıÀù≠¯∏Ì fl¬Àı˛±/ ¤ √õ∂¸Àº ¸˜ı±˚˛ ¸ø˜øÓ¬&ø˘ı˛ ˆ”¬ø˜fl¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) Discuss the various types of unemployment in India, and also explain the governmental

policies towards solving the problems of unemployment. 5+5=10

ˆ¬±ı˛ÀÓ¬ Œıfl¬±ı˛ÀQı˛ øıøˆ¬iß Òı˛Ì&ø˘ Œ˘À‡± ¤ı— Œıfl¬±ı˛Q ”ı˛œfl¬ı˛ÀÌı˛ ¸ı˛fl¬±øı˛ ÚœøÓ¬&ø˘ ı…±‡…± fl¬Àı˛±/

ñññññ
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

Answer any 20 of the following. 2×20=40

Œ˚ Œfl¬±ÀÚ± fl≈¬øh¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›/

1. From the intersection of the two ogives (more than and less than) we get:

≈øÈ¬ ›Ê±˝◊Àˆ¬ı˛ ŒÂfl¬ øıj≈ ŒÔÀfl¬ ’±˜ı˛± øÚ•ßø˘ø‡Ó¬ øı¯∏˚˛øÈ¬ Ê±ÚÀÓ¬ ¬Û±øı˛–
(a) Mean

·h¬
(b) Median

˜Ò…˜±
(c) Mode

¸ı«·øı˛á¬ ˜±Ú
(d) Standard deviation

¸˜…fl¬ øı‰≈¬…øÓ¬

2. If the correlation coefficient is a positive value, then the slope of the regression line

¸˝·±Ç¬ ÒÚ±Rfl¬ ˝À˘ øÚˆ«¬ı˛Ì Œı˛‡±ı˛ Ï¬±˘
(a) must also be positive

ÒÚ±Rfl¬ ˝Àı
(b) can be either negative or positive

ÒÚ±Rfl¬ ı± ŸÌ±Rfl¬ ˝Àı
(c) can be zero

˙”Ú… ˝ÀÓ¬ ¬Û±Àı˛
(d) cannot be zero

˙”Ú… ˝ÀÓ¬ ¬Û±Àı˛ Ú±

31615/16542 Please Turn Over

16542-SH-III-ECO-305-SEC-1·1-1·2-19-B



SH-III/ECO/305/SEC-1·1/19 ( 2 )

3. In case of Histogram the area of each rectangle is equated with

ø˝Àà¬±·Ë±À˜ı˛ Œé¬ÀS √õ∂øÓ¬øÈ¬ ’±˚˛Ó¬Àé¬ÀSı˛ Œé¬SÙ¬˘ ¸˜±Ú ˝˚˛

(a) class frequency

¬Ûøı˛¸—‡…± Œ|Ìœ

(b) width of class

Œ|Ìœ √õ∂¶ö

(c) total frequency

Œ˜±È¬ ¬Ûøı˛¸—‡…±

(d) class limit

Œ|Ìœ ¸œ˜±

4. The mean age of a group of 100 children was 9·35 years. The mean age of 25 of them was

8·75 years and that of another 65 was 10·51 years. What was the mean age of the remainder?

100 ÊÚ ø˙qı˛ ¤fl¬øÈ¬ À˘ı˛ ·h¬ ı˚˛¸ 9·35 ıÂı˛, Ó¬±ı˛˜ÀÒ… 25 ÊÀÚı˛ ·h¬ ı˚˛¸ 8·75 ıÂı˛ ¤ı— 65 ÊÀÚı˛

·h¬ ı˚˛¸ 10·51 ıÂı˛/ ’ıø˙©Ü ı±B‰¬±Àı˛ ı˚˛À¸ı˛ ·h¬ fl¬Ó¬ ˝Àı∑

(a) 3·61

(b) 3·31

(c) 3·13

(d) 2·43

5. A person bought 6 rupees worth of oranges from five markets at 15 paisa, 20 paisa, 25, paisa,

30 paisa and 50 paisa respectively. What is the average price of an orange?

¤fl¬ÊÚ ı…øMê ¬Û“±‰¬øÈ¬ ı±Ê±ı˛ ŒÔÀfl¬ ˚Ô±SêÀ˜ 15 ¬Û˚˛¸±, 20 ¬Û˚˛¸±, 25 ¬Û˚˛¸±, 30 ¬Û˚˛¸± › 50 ¬Û˚˛¸± Àı˛ Œ˜±È¬

6 È¬±fl¬±ı˛ fl¬Àı˛ fl¬˜˘±À˘ı≈ øfl¬Ú˘/ fl¬˜˘± Œ˘ı≈ı˛ ·h¬ ±˜ fl¬Ó¬∑

(a) 26

(b) 27

(c) 24

(d) 30



6. Which of the following relationship is correct?

øÚ•ßø˘ø‡Ó¬ ¸•Ûfl«¬&ø˘ Œfl¬±ÚøÈ¬ ¸øÍ¬fl¬∑

(a) A.M. > G.M ≥ H.M

·±øÌøÓ¬fl¬ ·h¬ > &ÀÌ±Mı˛ ·h¬ ≥ øııÓ«¬À˚Ãø·fl¬ ·h¬

(b) A.M. ≥ G.M ≥ H.M

·±øÌøÓ¬fl¬ ·h¬ ≥ &ÀÌ±Mı˛ ·h¬ ≥ øııÓ«¬À˚Ãø·fl¬ ·h¬

(c) A.M. ≥ G.M = H.M

·±øÌøÓ¬fl¬ ·h¬ ≥ &ÀÌ±Mı˛ ·h¬ = øııÓ«¬À˚Ãø·fl¬ ·h¬

(d) None of the above

Î¬◊¬ÛÀı˛ı˛ Œfl¬±ÀÚ±øÈ¬˝◊ Ú˚˛/

7. From the following table find out the median marks of a student.

øÚ•ßø˘ø‡Ó¬ Ó¬±ø˘fl¬± ŒÔÀfl¬ ¤fl¬ÊÚ Â±ÀSı˛ Ú•§Àı˛ı˛ ˜Ò…˜± øÚÌ«˚˛ fl¬Àı˛±/

Marks 0–20 21–30 31–40 41–50 51–60 61–70 71–80

˜±Ú

No. of Students 42 38 120 84 48 36 31

Â±ÀSı˛ ¸—‡…±

(a) 39·46

(b) 41·46

(c) 40·46

(d) 42·46

8. Which of the following relationship is correct?

øÚ•ßø˘ø‡Ó¬ ¸•Ûfl¬«&ø˘ı˛ ˜ÀÒ… Œfl¬±ÚøÈ¬ ¸øÍ¬fl¬∑

(a) Mean–Mode = 2 (Mean–Median)

·h¬ñ¸—‡…±·øı˛á¬ ˜±Ú = 2 ï·h¬ñ˜Ò…˜±ó

(b) Mean–Mode = 3 (Mean–Median)

·h¬ñ¸—‡…±·øı˛á¬ ˜±Ú = 3 ï·h¬ñ˜Ò…˜±ó

(c) Mode–Mean = 3 (Mean–Median)

¸—‡…±·øı˛á¬ ˜±Úñ·h¬ = 3 ï·h¬ñ˜Ò…˜±ó

(d) Median–Mode = 3 (Mean–Median)

˜Ò…˜±ñ¸—‡…±·øı˛á¬ ˜±Ú = 3 ï·h¬ñ˜Ò…˜±ó
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9. The monthly profits in rupees of 100 shops are distributed as follows:

100 øÈ Œ±fl¬±ÀÚı˛ ˜±ø¸fl¬ ’±˚˛ Ó¬±ø˘fl¬± ÚœÀ‰¬ ıøÌ«Ó¬ ˝˘ –

Profits per shop 0–100 100–200 200–300 300–400 400–500 500–600
√õ∂øÓ¬ Œ±fl¬±ÀÚı˛ ’±˚˛

No. of Shops 12 18 27 20 17 6
Œ±fl¬±ÀÚı˛ ¸—‡…±

Find the model value:

¸—‡…±·øı˛á¬ ˜±Ú øÚÌ«˚˛ fl¬Àı˛± –
(a) 256·25
(b) 254·75
(c) 255·21
(d) 250·15

10. The weight of 11 forty year old people were 148, 154, 158, 160, 161, 162, 166, 170, 182, 195
and 236 pounds. If the heaviest man is omitted, what is the percentage change in the range?

11 ÊÚ 40 ı»¸ı˛ ı˚˛¶® Œ˘±Àfl¬ı˛ ›ÊÚ ˚Ô±SêÀ˜ 148, 154, 158, 160, 161, 162, 166, 170, 182, 195
¤ı— 236 ¬Û±Î¬◊`¬/ ˚ø ¸ı«±øÒfl¬ ›ÊÚøıø˙©Ü ı…øMêÀfl¬ ı± Œ›˚˛± ˝˚˛, Ó¬Àı øıô¶∏±Àı˛ı˛ ˙Ó¬±—˙·Ó¬ ¬Ûøı˛ıÓ«¬Ú fl¬Ó¬
˝Àı∑

(a) 48
(b) 47
(c) 47·5
(d) 48·5

11. What will be the most appropriate measure of dispersion for the following data?

øÚ•ßø˘ø‡Ó¬ Ó¬Ô… Ó¬±ø˘fl¬±ı˛ Œé¬ÀS ¸ı«±À¬Ûé¬± Î¬◊¬Û˚≈Mê øı‰≈¬…øÓ¬ı˛ ¬Ûøı˛˜±¬Û Œfl¬±ÚøÈ¬ ˝Àı∑

Less than 35 (35 ¤ı˛ fl¬˜) 14

35–37 62

38–40 49

41–43 18

Over 43 (43 ¤ı˛ ’øÒfl¬) 7

(a) Standard deviation

¸˜…fl¬ øı‰≈¬…øÓ¬
(b) Coefficient of variation

øıô¶∏±ı˛±Ç¬
(c) Range

øıô¶∏±ı˛
(d) Quartile deviation

‰¬Ó≈¬Ô«±—˙œ øı‰≈¬…øÓ¬

SH-III/ECO/305/SEC-1·1/19 ( 4 )



12. Calcualte the Mean Deviation of the following values about the median.

øÚ•ßø˘ø‡Ó¬ ˜±Ú&ø˘ ŒÔÀfl¬ ˜Ò…˜±ı˛ ¸±À¬ÛÀé¬ ·h¬ øı‰≈¬…øÓ¬ øÚÌ«˚˛ fl¬Àı˛±/

8, 15, 53, 49, 19, 62, 7, 15, 95, 77

(a) 27

(b) 27·2

(c) 27·4

(d) 26·2

13. The standard deviation calculated from a set of 32 observations is 5. If the sum of observations

is 80, what is the sum of the sqaures of these observations?

32 øÈ¬ ¬Û˚«Àıé¬ÀÌı˛ ¸˜…fl¬ øı‰≈¬…øÓ¬ ˚ø 5 ˝˚˛ ¤ı— ¬Û «̊Àıé¬Ì&ø˘ı˛ Œ˚±·Ù¬˘ ˚ø 80 ˝˚˛, Ó¬Àı ¬Û˚«Àıé¬Ì&ø˘ı˛

ıÀ·«ı˛ Œ˚±·Ù¬˘ fl¬Ó¬ ˝Àı∑

(a) 1100

(b) 910

(c) 1000

(d) 1050

14. The mean and standard deviation of 20 items is found to be 10 and 2 respectively. At the time

of checking it was found that one item 8 was incorrect. Calculate the standard deviation if the

wrong item is omitted.

20 øÈ¬ ¬^Àı…ı˛ ·h¬ ¤ı— ¸˜…fl¬ øı‰≈¬…øÓ¬ı˛ ˜±Ú ˚Ô±SêÀ˜ 10 ¤ı— 2 / ¬Ûı˛œé¬± fl¬ı˛±ı˛ ¸˜˚˛ Œ‡± Œ·˘ Œ˚ ¤fl¬øÈ¬

^ı… ˚±ı˛ ˜±Ú 8 ˆ≈¬˘ øÂ˘/ Œ¸Àé¬ÀS ˆ≈¬˘ ^Àı…ı˛ ˜±Ú ı± øÀ˚˛ ¸øÍ¬fl¬ ¸˜…fl¬ øı‰≈¬…øÓ¬ı˛ ˜±Ú øÚÌ«˚˛ fl¬Àı˛±/

(a) 1·997

(b) 2·123

(c) 1·421

(d) 1·723
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15. Given the following results relating to two groups containing 20 and 30 observations, calculate

the coefficient of variation of all the 50 observations by combining both the groups:

20 ÊÚ › 30 ÊÚ Œ˘±Àfl¬ı˛ ≈øÈ¬ Œ·±á¬œı˛ Ù¬˘±Ù¬˘ øÚÀ•ß ıøÌ«Ó¬ ˝À˚˛ÀÂ/ ¤Àé¬ÀS 50 ÊÚ Œ˘±Àfl¬ı˛ ¤fl¬ÀS øıô¶∏±ı˛±Ç¬
fl¬Ó¬ ˝Àı∑

Groups (Œ·±á¬œ)

I II

∑x 45 55

∑x2 118 132

(a) 50

(b) 45

(c) 51

(d) 50·5

16. From the data given below, calculate the coefficient of variation:

Pearson’s measure of skewness = 0·42, Mean = 86, Median = 80

øÚ•ßø˘ø‡Ó¬ Ó¬Ô…&ø˘ ŒÔÀfl¬ øıô¶∏±ı˛±Ç¬ øÚÌ«˚˛ fl¬Àı˛± –

ø¬Û˚˛±¸«ÀÚı˛ øÓ¬˚«fl¬Ó¬±ı˛ ¬Ûøı˛˜±¬Û = 0·42, ·h¬ = 86, ˜Ò…˜± = 80

(a) 51

(b) 50

(c) 50·5

(d) 52

17. When kurtosis of a distribution is positive, the distribution is called:

Œfl¬±Ú øıˆ¬±ÊÀÚı˛ Ó¬œÑÓ¬± ÒÚ±Rfl¬ ˝À˘, ‹ øıˆ¬±ÊÚÀfl¬ ı˘± ˝˚˛ –

(a) Platykurtic

Œõ≠øÈ¬fl¬±øÈ«¬fl¬

(b) Mesokurtic

Œ˜À¸±fl¬±øÈ«¬fl¬

(c) Leptokurtic

Œ˘ÀõI◊±fl¬±øÈ«¬fl¬

(d) Binomial

ı±˝◊ÀÚ±ø˜˚˛±˘
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18. The first two moments of a distribution about the value 5 of the variable are 2 and 20. Find

the mean.

5 ¤ı˛ ¸±À¬ÛÀé¬ ¤fl¬øÈ¬ øıˆ¬±ÊÀÚı˛ √õ∂Ô˜ ≈øÈ¬ Œ˜±À˜KÈ¬ ¤ı˛ ˜±Ú ˚Ô±SêÀ˜ 2 ¤ı— 20/ ·h¬ øÚÌ«˚˛ fl¬Àı˛±ñ

(a) 8

(b) 7

(c) 7·5

(d) 8·5

19. Which one of the following variables is not categorical?

ÚœÀ‰¬ı˛ ‰¬˘fl¬&ø˘ı˛ ˜ÀÒ… Œfl¬±ÚøÈ¬ categorical Ú˚˛∑

(a) Age of a person.

ı…øMêı˛ ı˚˛¸

(b) Gender of a person: male or female

ı…øMêı˛ ø˘º – ¬Û≈è¯∏ ı± ˜ø˝˘±

(c) Choice on a test item: true or false

¤fl¬øÈ¬ test item ¤ı˛ ¬ÛÂj – ¸Ó¬… ı± ø˜Ô…±

(d) Marital status of a person (single, married, divorced, other)

ı…øMêı˛ øıı±˝ ¸•Ûøfl«¬Ó¬ ’ı¶ö±Ú – ’øıı±ø˝Ó¬, øıı±ø˝Ó¬, øıı±˝øıøBÂiß, ’Ú…±Ú…

20. The correlation coefficient is used to determine:

¸˝·±Ç¬ ı…ı˝+Ó¬ ˝˚˛ Œfl¬±ÚøÈ¬ øÚÒ«±ı˛Ì fl¬ı˛±ı˛ ÊÚ…∑

(a) A specific value of the y-variable given a specific value of the x-variable.

x-¤ı˛ ¤fl¬øÈ¬ øÚø«©Ü ˜±Ú ŒÔÀfl¬ y-¤ı˛ ˜±Ú

(b) A specific value of the x-variable given a specific value of the y-variable

y-¤ı˛ ¤fl¬øÈ¬ øÚø«©Ü ˜±Ú ŒÔÀfl¬ x-¤ı˛ ˜±Ú

(c) The strength of the relationship between the x and y variables

x › y ¤ı˛ ˜ÀÒ… ¸•ÛÀfl«¬ı˛ √õ∂fl‘¬øÓ¬

(d) None of the above

Î¬◊¬ÛÀı˛ı˛ Œfl¬±ÀÚ±øÈ¬˝◊ Ú˚˛/
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21. Let the lines of regression concerning two variables x and y be given by y=32–x and

x = 13–0·25y. Obtain the  correlation co-efficient.

x › y ¤ı̨ øÚ «̂¬ı̨Ì Œı̨‡±ZÀ˚̨ı̨ ¸˜œfl¬ı̨Ì&ø˘ ˝˘ ˚Ô±SêÀ˜ y=32–x › x = 13–0·25y / ¸˝·±ÀÇ¬ı̨ ˜±Ì øÚÌ«̊  ̨fl¬Àı̨±/

(a) + ·5

(b) – ·5

(c) ·25

(d) –·25

22. From the following data , estimate the value of y when x = 12.

øÚ•ßø˘ø‡Ó¬ Ó¬±ø˘fl¬± ŒÔÀfl¬ y ¤ı˛ ˜±Ú øÚÌ«˚˛ fl¬Àı˛± ˚‡Ú x = 12/

x 1 3 4 6 8 9 11 14

y 1 2 4 4 5 7 8 9

(a) 55

(b) 64

(c) 54

(d) 54·5

23. What was the repo rate in November 2019?

2019 ¸±À˘ı˛ ÚÀˆ¬•§ı˛ ˜±À¸ Œı˛À¬Û± Œı˛È¬ fl¬Ó¬ øÂ˘∑

(a) 5·15

(b) 2·25

(c) 5·20

(d) 5·10

24. What is the name of the organisation which conducts census after every 10 years?

Œfl¬±Ú ¸—¶ö± √õ∂øÓ¬ 10 ıÂı˛ ’ôL√ı˛ ÊÚ·ÌÚ± ¸—·øÍ¬Ó¬ fl¬Àı˛ Ô±Àfl¬∑

(a) CSO

(b) NSSO

(c) CSO and NSSO both

(d) None of the above
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25. What was the SLR in November 2019?

ÚÀˆ¬•§ı˛ 2019-¤ SLR fl¬Ó¬ øÂ˘∑

(a) 19·75%

(b) 20·75%

(c) 21·75%

(d) 18·75%

ñññññ
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/

A. Define the following concepts (any five): 2×5=10

øÚ•ßø˘ø‡Ó¬ Ò±ı˛Ì±&ø˘ı˛ ˜ÀÒ… Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ı˛ ¸—:± ±› –

1. Primary Data.

√õ∂±˝◊˜±øı˛ ŒÎ¬È¬±

2. Action Research.

Action Research

3. Hypothesis.

˝±˝◊À¬Û±ÀÔø¸¸

4. Random sampling.

ı˛…±`¬±˜ ¸…±À•Û˘

5. Research Design.

Research Design ïøı˛¸±‰«¬ øÎ¬Ê±˝◊Úó

6. APA style of referencing.

APA à¬±˝◊˘ Œı˛Ù¬±Àı˛øk—

7. Qualitative Data.

Qualitative Data

8. Fundamental Research.

Ù¬±`¬±À˜KÈ¬±˘ øı˛¸±‰«¬ (Fundamental Research)
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B. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

1. What are the criteria of a good sample?

¤fl¬øÈ¬ ˆ¬±˘ ¸…±À•Û˘ (good sample)-¤ Δıø˙©Ü…&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

2. What are the pros and cons of using secondary data in research?

øı˛¸±‰«¬-¤ Œé¬ÀS Œ¸Àfl¬`¬±ı˛œ ŒÎ¬È¬± (secondary data-ı˛) ı…ı˝±Àı˛ı˛ Î¬◊¬Ûfl¬±øı˛Ó¬± › ’¬Ûfl¬±øı˛Ó¬±&ø˘ ’±À˘±‰¬Ú±
fl¬Àı˛±/

3. Write a short note on research ethics.

øı˛¸±‰«¬ ¤øÔ' (Research Ethics)-¤ı˛ ı…±¬Û±Àı˛ ŒÓ¬±˜±ı˛ Ò±ı˛Ì± ı…±‡…± fl¬Àı˛±/

4. Name the different styles of referencing used in research. Give example.

Œı˛Ù¬±Àı˛øk—-¤ı˛ à¬±˝◊˘&ø˘Àfl¬ Î¬◊±˝ı˛Ì¸˝ ıÌ«Ú± fl¬Àı˛±/

5. What are the guidelines that must be followed so as to write a good project report?

¤fl¬øÈ¬  ˆ¬±˘ √õ∂ÀÊ" øı˛À¬Û±È«¬ Œ˘‡±ı˛ Œé¬ÀS Œ˚ øÚ˚˛˜±ı˘œ&ø˘ Œ˜ÀÚ ‰¬˘± Î¬◊ø‰¬Ó¬ Œ¸&ø˘ ıÌ«Ú± fl¬Àı˛±/

6. Is there any difference between research method and research methodology? Explain. 

1+4=5

øı˛¸±‰«¬ Œ˜ÔÎ¬ ¤ı— øı˛¸±‰«¬ Œ˜ÔÎ¬˘øÊı˛ ˜ÀÒ… fl¬œ Œfl¬±ÀÚ± ¬Û±Ô«fl¬… ’±ÀÂ∑ ı…±‡…± fl¬Àı˛±/

C. Answer any one question of the following: 10×1=10

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

1. Write down the different methods of collecting primary data.

√õ∂±˝◊˜±øı˛ ŒÎ¬È¬± Collection-¤ı˛ Methods &ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

2. Give a broad idea about any one of the following approaches to research:

øÚ•ßø˘ø‡Ó¬ øı˛¸±‰«¬ Approach &ø˘ı˛ ı…±¬Û±Àı˛ ïŒ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ó Ò±ı˛Ì± ı…±‡…± fl¬Àı˛± –

(a) Quantitative ï¬Ûøı˛˜±Ì·Ó¬ó

(b) Qualitative ï&Ì·Ó¬ó

ñññññ
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Course ID : 31618 Course Code : SP/ECO/301/C-1C
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Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

The questions are of equal value.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Mention two functions of ‘NABARD’.

Ú±ı±ÀÎ«¬ı˛ ≈øÈ¬ fl¬±Ê Î¬◊À{°‡ fl¬Àı˛±/

(b) Write two main objectives of land reforms in India.

ˆ¬±ı˛ÀÓ¬ı˛ ˆ”¬ø˜¸—¶®±Àı˛ı˛ ≈øÈ¬ õ∂Ò±Ú Î¬◊ÀV˙… Œ˘À‡±/

(c) Define disguised unemployment.

ÂΩÀı˙œ Œıfl¬±ı˛Q fl¬±Àfl¬ ıÀ˘∑

(d) What is Primary sector in any economy?

Œ˚ Œfl¬±ÀÚ± ’Ô«ı…ı¶ö±˚˛ õ∂±Ôø˜fl¬ Œé¬S fl¬±Àfl¬ ıÀ˘∑

(e) Define National Income.

Ê±Ó¬œ˚˛ ’±À˚˛ı˛ ¸—:± ±›/

(f) What do you mean by developing economy?

Î¬◊iß˚˛Ú˙œ˘ ’Ô«ÚœøÓ¬ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
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(g) Mention two causes for low productivity in Indian agriculture.

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯Àé¬ÀS ¶§ä Î¬◊»¬Û±Ú˙œ˘Ó¬±ı˛ ≈øÈ¬ fl¬±ı˛Ì Œ˘À‡±/

(h) Give the full form of ICICI.

ICICI fl¬Ô±øÈ¬ı˛ ¬Û”Ì« Ú±˜ Œ˘À‡±/

2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define green revolution. Mention merits and demerits (two each) of green revolution.

1+2+2=5

¸ı≈Ê øıõ≠ı fl¬±Àfl¬ ıÀ˘∑ ¸ı≈Ê øıõ≠Àıı˛ ≈øÈ¬ fl¬Àı˛ ≈̧Ù¬˘ › fl≈¬Ù¬˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) What do you mean by Per-Capita-Income? Mention briefly the difficulties in estimation

of national Income in India. 1+4=5

˜±Ô±ø¬ÛÂ≈ ’±˚˛ fl¬±Àfl¬ ıÀ˘∑ ˆ¬±ı˛ÀÓ¬ Ê±Ó¬œ˚˛ ’±˚˛ ¬Ûøı˛˜±À¬Ûı˛ ’¸≈øıÒ±&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) Discuss the role of small scale industry for promoting economic development in India.

ˆ¬±ı˛ÀÓ¬ı˛ ’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛ÀÚ é≈¬^ø˙Àäı˛ ˆ”¬ø˜fl¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) What do you mean by land reforms? Write a short note on necessity of land reforms in

Indian economy.

ˆ”¬ø˜¸—¶®±ı˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ˆ¬±ı˛Ó¬œ˚˛ ’Ô«ÚœøÓ¬ÀÓ¬ ˆ”¬ø˜¸—¶®±Àı˛ı˛ õ∂À˚˛±ÊÚœ˚˛Ó¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(e) Discuss briefly the grounds for and against mechanisation of agriculture in India.

2½+2½=5

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯ÀÓ¬ ˚Laœfl¬ı˛ÀÌı˛ ¬ÛÀé¬ › øı¬ÛÀé¬ fl¬±ı˛Ì&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(f) What is the difference between under employment and unemployment? What is the relation

between poverty and unemployment? 3+2=5

’Ò«Àıfl¬±ı˛Q › fl¬˜«˝œÚÓ¬±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬œ∑ ±øı˛^Ó¬± › fl¬˜«˝œÚÓ¬±ı˛ ˜ÀÒ… ¸•Ûfl«¬ Œ˘À‡±/
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3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Analyse the problems of agricultural marketing in India. In this context discuss the role

of co-operatives. 6+4=10

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯∏ øı¬ÛÌÀÚı˛ ¸˜¸…±&ø˘ øıÀù≠¯∏Ì fl¬Àı˛±/ ¤ √õ∂¸Àº ¸˜ı±˚˛ ¸ø˜øÓ¬&ø˘ı˛ ˆ”¬ø˜fl¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) Discuss the various types of unemployment in India, and also explain the governmental

policies towards solving the problems of unemployment. 5+5=10

ˆ¬±ı˛ÀÓ¬ Œıfl¬±ı˛ÀQı˛ øıøˆ¬iß Òı˛Ì&ø˘ Œ˘À‡± ¤ı— Œıfl¬±ı˛Q ”ı˛œfl¬ı˛ÀÌı˛ ¸ı˛fl¬±øı˛ ÚœøÓ¬&ø˘ ı…±‡…± fl¬Àı˛±/

ñññññ
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  Candidates are required to give their answers in their own words 
as far as practicable. 

˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ ²ÌöìÙÀîû þ›)”Åôyöìlîû !löì˜Å¢†þÐ 
þ›îû#ÇþyíÅ#öì˜îû ëíy¤½þî !löì?îû èþy£ìyëû ’þz_îû !˜öì•þ ¥öìîÐ 

       Answer any 20 of the following. 20×2=40 

       öë ö†þyöìly þ†%þ!’þü!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG Ð 

 1. What is the definition of range? 

  ²Ì¤yîû †þyöì†þ îöì¡Ú 

   (a) Maximum value + Minimum value 

    ¤îÅy!™†þ ôyl + ¤îÅ!lÁ¬ ôyl  
   (b) Maximum value – Minimum value 

    ¤îÅy!™†þ ôyl – ¤îÅ!lÁ¬ ôyl 

   (c) Maximum value × Minimum value 

    ¤îÅy!™†þ ôyl × ¤îÅ!lÁ¬ ôyl 

   (d) Maximum value / Minimum value 

     ¤îÅy!™†þ ôyl / ¤îÅ!lÁ¬ ôyl 

 2. Standard deviation is independent of 

  ¤ôÄ†þ !î‹%þÄ!•þ ô%_« ¥ëû 

   (a) change of origin 

    ’þzê¤ þ›!îûî•Åþöìlîû öíöì†þ 

   (b) change of origin and change of scale 

    ’þzê¤ þ›!îûî•Åþl ~î‚ ößñ¡ þ›!îûî•Åþöìlîû öíöì†þ 

   (c) change of scale 

    ößñ¡ þ›!îûî•Åþöìlîû öíöì†þ 

   (d) None of the above 

    þ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëûÐ  
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 3. Find out the S.D. for the following table: 

  !lÁ¬!¡!‡•þ •þy!¡†þy öíöì†þ ¤ôÄ†þ !î‹%þÄ!•þîû ôy¡ !l”Åëû †þöìîûy / 4 6 8 15 23 9 7 3 ݂ 75 65 55 45 35 25 15 5 ݔ 

   (a) 16·9 
   (b) 15·2 
   (c) 17·9 
   (d) 17·5 

 4. For a group of 50 boys the mean score on a test is 59·5 For a group of 40 girls the corresponding 
score is 54·0. Find the mean of the combined group of 90 children. 

  50 ?l îy¡öì†þîû ~†þ!Øþ ˜öì¡îû ~†þ!Øþ þ›îû#Çþyîû ˆ’þü ôyl 59·5 ~î‚ 40 ?l îy!¡†þyîû ú þ›îû#Çþyîû ˆ’þü ôyl 54·0Ð  
90 ?öìlîû ~†þöìe ú þ›îû#Çþyëû ²Ìy® lÁºöìîûîû ˆ’þü !l”Åëû †þöìîûyÐ 

   (a) 58·06 

   (b) 58·5 

   (c) 55·2 

   (d) 57·06 

 5. What is relative frequency? 
  xyöìþ›!Çþ†þ !æÊþöì†þyöìëû!ª †þyöì†þ îöì¡Ú 

   (a) Total frequency / class frequency  
    öôyØþ !æÊþöì†þyöìëû!ª / ö×!” !æÊþöì†þyöìëû!ª 

   (b) Class frequency + total frequency  
    ö×!” !æÊþöì†þyöìëû!ª + öôyØþ !æÊþöì†þyöìëû!ª 

   (c) Class frequency / total frequency  
    ö×!” !æÊþöì†þyöìëû!ª / öôyØþ !æÊþöì†þyöìëû!ª 

   (d) Class frequency – total frequency 
    ö×!” !æÊþöì†þyöìëû!ª – öôyØþ !æÊþöì†þyöìëû!ª 

 6. Which of the following is a diagrammatic representation of frequency distribution? 

  !löìÁ¬îû ö†þyl!Øþ þ›!îû¤‚‡Äyîû !‹þeÚ 

   (a) Histogram 

    !¥öìÞØþy@ýÌyô 

   (b) Frequency polygon 

    þ›!îû¤‚‡Äy îàè)þ? 

   (c) Ogive 

    G?y¥zèþ 

   (d) All of the above 

    ’þzþ›öìîûîû ¤î†þ!Øþ¥z 
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 7. The number of telephone calls received in 245 successive one minute intervals at an exchange are 
shown in the following frequency distribution: 

  !lÁ¬!¡!‡•þ •þy!¡†þyöì•þ 1 !ô!löìØþîû îÄî™yöìl ²Ìy® öØþ!¡öìæþyöìlîû þ›!îû¤‚‡Äy !îî,•þ ¥¡ / 

No. of calls 0 1 2 3 4 5 6 7 Total 

Frequencies 14 21 25 43 51 40 39 12 245 

  Evaluate the mode: 

  ¤‚‡Äy=îû& ôyl !l”Åëû †þöìîûy / 

   (a) 3·8 

   (b) 4·2 

   (c) 4 

   (d) 4·1 

 8. If ݕ௜ = ௫೔ି஼ௗ  (where ܿ and ݀ are constants), then ̅ݔ = 

  ë!˜ ݕ௜ = ௫೔ି஼ௗ  Œöë‡yöìl ܿ ~î‚ ݀  ™Ê&î†þîûy!¢Š •þy¥öì¡ ̅ݔ = 

   (a) ̅ܥ +  തݕ̅݀

   (b) ܥ +  തݕ݀

   (c) ݀ +  തݕܥ

   (d) ݀ −  തݕܥ

 9. If the correlation coefficient between ݔ  and ݕ  is ·5, what would be the correlation coefficient 
between 5ݔ and −3ݕ? 

  ë!˜ ݔ G ݕ ~îûþ ôöì™Äîû ¤¥þ›!îûî•Åþl =”yöìBþîû ôyl ·5 ¥ëû– •þy¥öì¡ 5ݔ G −3ݕ ~îû ôöì™Äîû ¤¥þ›!îûî•Åþl =”yöìBþîû ôyl 
†þ•þ ¥öìîÚ 

   (a) ·5 

   (b) 1 

   (c) –·5 

   (d) –1 

 10. What is ܾ௫௬? 

   ܾ௫௬ †þyöì†þ îöì¡Ú 

   (a) ݎ ఙೣఙ೤ 

   (b) ݎ ఙ೤ఙೣ 

   (c) ߪݎ௫ߪ௬ 

   (d) ߪ)ݎ௫ −  (௬ߪ
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 11. What is the regression equation of ݕ on ݔ? 

 îû ²Ì!•þˆôl öîû‡y!Øþöì†þ !lÁ¬!¡!‡•þ ö†þyl ¤ô#†þîû”!Øþ !löì˜Å¢ †þöìîûÚ~ ݔ îû Gþ›îû~ ݕ  

   (a) ݕ + തݕ = ܾ௬௫(ݔ −  (ݔ̅

   (b) ݕ − തݕ = ܾ௫௬(ݔ −  (ݔ̅

   (c) ݔ − ݔ̅ = ܾ௬௫(ݔ −  (ݔ̅

   (d) ݕ − തݕ = ܾ௬௫(ݔ −  (ݔ̅

 12. State whether you would expect to find the type of correlation for the following case. Insurance 
companies, profit and the number of claims they have to pay 

  !lÁ¬!¡!‡•þ öÇþöìe ö†þylä ²Ì†þyöìîûîû ¤¥þ›!îûî•Åþl ¡ÇþÄ †þîûy ëyëûÐ î#ôy ö†þyÁ›y!lîû ¡yèþ ~î‚ •þyöì˜îû ²Ìöì˜ëû ö†Ïþô ~îû ¤‚‡Äy 

   (a) Positive 
    ™lyd†þ 

   (b) No correlation 

    ö†þyl ²Ì†þyîû ¤¥þ›!îûî•Åþl öl¥z 

   (c) Negative 

    }”yd†þ 

   (d) None of the above 

    ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû 

 13. Calculate the correlation coefficient from the following results: 

  !lÁ¬!¡!‡•þ ôyl=!¡ öíöì†þ ¤¥þ›!îûî•Åþl =”yöìBþîû ôyl !l”Åëû †þöìîûy / ∑ ௜ݔ =ଵ଴଴௜ୀଵ 280, ∑ ௜ݕ =ଵ଴଴௜ୀଵ 60, ∑ ௜ଶଵ଴଴௜ୀଵݔ = 2384, ∑ ௜ଶݕ = 117 ෌ ௜ଶଵ଴଴௜ୀଵݕ = 117, ∑ ௜ݕ௜ݔ = 438ଵ଴଴௜ୀଵଵ଴଴௜ୀଵ . 

   (a) ·7 

   (b) ·75 

   (c) ·8 

   (d) ·82 

 14. Classify “religion of a student” in statistical data collection. 

  òòö†þyl Séyöìeîû ™ôÅóó †þ# ²Ì†þyöìîûîû îûy!¢•þíÄÚ  

   (a) Attribute 

    =”ˆ•þ 

   (b) Discrete variable 

    !î!FSé§¬ ‹þ¡îûy!¢ 

   (c) Continuous variable 

    !lîû!î!FSé§¬ ‹þ¡îûy!¢ 

   (d) Discrete and continuous both 

    !î!FSé§¬ ~î‚ !lîû!î!FSé§¬ ‹þ¡îûy!¢ 
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 15. What are the types of statistical data? 

  îûy!¢•þíÄ †þ# †þ# ²Ì†þyöìîûîû ¥ëûÚ  

   (a) Primary and private data 

    ²Ìyí!ô†þ ~î‚ îÄ!_«ˆ•þ •þíÄ 

   (b) Primary and secondary data 

    ²Ìyí!ô†þ G x²Ìyí!ô†þ •þíÄ 

   (c) Sample and primary data 

    lô%ly ~î‚ ²Ìyí!ô†þ •þíÄ  

   (d) Sample  and secondary data 

    lô%ly ~î‚ x²Ìyí!ô†þ •þíÄ 

 16. What is the width of a class? 

  ö×!”îû ÷˜‰ÅÄ †þyöì†þ îöì¡Ú 

   (a) Lower class boundary × Upper class boundary 

    !lÁ¬ ö×!” ¤#ôyly × ’þzF‹þ ö×!” ¤#ôyly 

   (b) Upper class boundary + Lower class boundary 

    ’þzF‹þ ö×!” ¤#ôyly + !lÁ¬ ö×!” ¤#ôyly  

   (c) Upper class boundary – Lower class boundary 

    ’þzF‹þ ö×!” ¤#ôyly – !lÁ¬ ö×!” ¤#ôyly 

   (d) Upper class boundary / Lower class boundary 

    ’þzF‹þ ö×!” ¤#ôyly / !lÁ¬ ö×!” ¤#ôyly 

 17. Moment measure of skewness is 

  Skewness Œ!•þëÅ†þ•þyŠ ~îû moment þ›!îûôyþ› ¥¡  

   (a) 
௠యఙయ  

   (b) 
௠రఙమ  

   (c) 
௠రఙర − 3 

   (d) 
௠మఙమ  

 18. What is the range of a correlation coefficient (r)? 

  ¤¥ˆyöìBþîû ôyöìlîû !îhßìyîû †þ•þÚ  

   (a) – 1 ≤ ݎ ≤ 1 

   (b) −1 < ݎ ≤ 1 

   (c) −1 ≤ ݎ < 1 

   (d) −1 < ݎ < 1 
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 19. If the record of amounts spent a person you on various earnings gives a coefficient of variation of 
50 per cent and a standard deviation of  ` 4, what was your average expenditure? 

  !î!î™ !î£ìöìëû ~†þ?l ö¡yöì†þîû ‡îûöì‹þîû !îhßìyîûyBþ ë!˜ 50 ¢•þy‚¢ ¥ëû ~î‚ ¤ôÄ†þ !î‹%þÄ!•þ ë!˜ 4 Øþy†þy ¥ëû– ö¤öìÇþöìe ú 
ö¡yöì†þîû ˆ’þü îÄëû †þ•þ ¥öìîÚ 

   (a) 7 

   (b) 9 

   (c) 8 

   (d) 8·5 

 20. Find the mean deviation of the following series: 

  !lÁ¬!¡!‡•þ •þy!¡†þy öíöì†þ ˆ’þü !î‹%þÄ!•þîû ôyl !l”Åëû †þöìîûy / 

x 10 11 12 13 14 total 

frequency 3 12 18 12 3 48 

   (a) ·85 

   (b) ·65 

   (c) ·95 

   (d) ·75 

 21. From the following data calculate the first quartile: 

  !lÁ¬!¡!‡•þ •þy!¡†þy öíöì†þ ²Ìíô ‹þ•%þíÅy‚¢ì†þéŸé~îû ôyl !l”Åëû †þöìîûy 

x 0–5 5–10 10–15 15–25 25–35 35–60 60–80 

frequency 12 30 51 84 66 50 7 

   (a) 12·24 

   (b) 13·24 

   (c) 14·24 

   (d) 15·24 

 22. If Arithmetic Mean = 26·8, Median = 27·9, what is the value of Mode? 

  öëï!ˆ†þ ˆ’þü = 26·8– ô™Äôy = 27·9 ¥öì¡ ¤‚‡Äyˆ!îûÛþéŸé~îû ôyl †þ•þ ¥öìîÚ 

   (a) 32·53 

   (b) 29·87 

   (c) 30·1 

   (d) 32·4 



  ( 7 ) SP/ECO-304/SEC-1/19 

 23. A person goes from A to B on cycle at 20km/hour and returns at 24 km/hour. Find out the average 
speed of the person. 

  ~†þ îÄ!_« ¤y¥zöì†þöì¡ A öíöì†þ B ö•þ ëyëû 20 !†þ!ô ²Ì!•þ ‰rØþy ˆ!•þöìîöìˆ ~î‚ !æþöìîû xyöì¤ 24 !†þ!ô ²Ì!•þ ‰rØþy ˆ!•þöìîöìˆÐ 
ú îÄ!_«îû ˆ’þü ˆ!•þöìîˆ †þ•þÚ 

   (a) 22 

   (b) 20 

   (c) 21·82 

   (d) 23 

 24. When was the 1st census conducted in India? 

  èþyîû•þîöì£ìÅ ²Ìíô ?lˆ”ly †þ•þ ¤yöì¡ ¥öìëû!Sé¡Ú 

   (a) 1881 

   (b) 1891 

   (c) 1880 

   (d) 1871 

 25. What are the two main government organisations in India responsible for data collection? 

  èþyîû•þîöì£ìÅîû ö†þyl ˜%!Øþ ¤îû†þy!îû ¤‚ßiy •þíÄ¤‚@ýÌöì¥îû ¤yöìí ë%_«Ú 

   (a) RBI and CSO 

   (b) CSO and NSSO 

   (c) RBI and NSSO 

   (d) ASI and NSSO 

_________ 
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is the distinction between Firm and Industry?

Ù¬±˜« › ø˙Àäı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬œ∑

(b) State the relationship between AR, MR and Price elasticity of demand.

·h¬ ’±˚˛, √õ∂±øôL√fl¬ ’±˚˛ ¤ı— ‰¬±ø˝±ı˛ ±˜·Ó¬ ø¶öøÓ¬ø¶ö±¬Ûfl¬Ó¬±ı˛ ˜ÀÒ… ¸•Ûfl«¬ √õ∂fl¬±˙ fl¬Àı˛±/

(c) Define Monopoly.

¤fl¬À‰¬øÈ¬˚˛± ı±Ê±ı˛ ¸—:±ø˚˛Ó¬ fl¬Àı˛±/

(d) Give two assumptions of a market of monopolistic competition.

¤fl¬À‰¬øÈ¬˚˛± √õ∂øÓ¬À˚±ø·Ó¬± ”̃̆ fl¬ ı±Ê±Àı˛ı˛ ≈øÈ¬ ’Ú≈Ò±ı˛Ì± ±›/

(e) If MC is below AC, will AC be falling or rising?

˚ø √õ∂±øôL√fl¬ ı…˚˛ ·h¬ ı…À˚˛ı˛ ÚœÀ‰¬ Ô±Àfl¬ Ó¬±˝À˘ ·h¬ ı…˚˛ fl¬œ ı‘øX¬ Ú± ˝ò±¸ Œ¬ÛÀÓ¬ Ô±Àfl¬∑

(f) Define Transfer earning.

¶ö±Ú±ôL√ı˛ ’±À˚˛ı˛ ¸—:± Œ˘À‡±/

(g) What is Reaction function?

√õ∂øÓ¬øSê˚˛± ’À¬Ûé¬± fl¬œ∑

(h) What is Price rigidity and who introduced this concept?

±˜ ’Úh¬Ó¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ¤ı— Œfl¬ ¤˝◊ Ò±ı˛Ì±øÈ¬ √õ∂ıÓ«¬Ú fl¬Àı˛Ú∑
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2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Show that no supply-curve exists in monopoly. How can one measure monopoly power
of a monopolist? 3+2=5

Œ‡±› Œ˚ ¤fl¬À‰¬øÈ¬˚˛± ı±Ê±Àı˛ Œfl¬±ÀÚ± ŒÊ±·±Ú Œı˛‡± Ô±Àfl¬ Ú±/ Œfl¬±ÀÚ± ¤fl¬À‰¬øÈ¬˚˛± fl¬±ı˛ı±øı˛ı˛ ¤fl¬À‰¬øÈ¬˚˛±
é¬˜Ó¬±ı˛ ¬Ûøı˛˜±¬Û fl¬œˆ¬±Àı fl¬ı˛± ˚±Àı∑

(b) What is Multi-plant monopolist? Show equilibrium of a Multi-plant Monopolist.

1+4=5

˜±øå¬ õ≠±KÈ¬ ˜ÀÚ±¬Ûø˘ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ Multi-plant ˜ÀÚ±¬Ûø˘ı˛ ˆ¬±ı˛¸±˜…øÈ¬ Œ‡±›/

(c) State the assumptions of Stackelberg Oligopoly model. Explain how is equilibrium derived

in such model?

Stackelberg Oligopoly ˜ÀÎ¬À˘ı˛ ’Ú≈Ò±ı˛Ì±&ø˘ øıı‘Ó¬ fl¬Àı˛±/ fl¬œˆ¬±Àı ¤˝◊ ˜ÀÎ¬À˘ ˆ¬±ı˛¸±˜… øÚı˛+ø¬ÛÓ¬
˝˚˛, Ó¬± ı…±‡…± fl¬Àı˛±/

(d) Distinguish between Gross Profit and Net profit. Discuss profit as return for risk-taking

and uncertainty bearing. 2+3=5

Œ˜±È¬ ˜≈Ú±Ù¬± › øÚÈ¬ ˜≈Ú±Ù¬±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÀ«˙ fl¬Àı˛±/ ˜≈Ú±Ù¬±ı˛ Á“¬≈øfl¬ › ’øÚ}¬˚˛Ó¬± ı˝Úfl¬±ı˛œ Ó¬MWøÈ¬
’±À˘±‰¬Ú± fl¬Àı˛±/

(e) What do you mean by Liquidity Preference? Explain the nature of speculative demand
for money in Keynesian Liquidity Preference Theory. 2+3=5

Ó¬±ı˛À˘…ı˛ ¬ÛÂj ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑ Œfl¬˝◊Úƒ¸œ˚˛ Ó¬±ı˛˘… ¬ÛÂÀjı˛ Ó¬ÀMW Ù¬±È¬fl¬± fl¬±ı˛ı±Àı˛ı˛ Î¬◊ÀVÀ˙… ‰¬±ø˝±ı˛
√õ∂fl‘¬øÓ¬ ı…±‡…± fl¬Àı˛±/

(f) Define Pareto Optimal Situation. Establish the Pareto Optimality conditions in production

sector. 2+3=5

¬Û…±Àı˛ÀÈ¬± √õ∂M fl¬±˜… ’ı¶ö±ı˛ ¸—:± ±›/ Î¬◊»¬Û±Ú Œé¬ÀS ¬Û…±Àı˛ÀÈ¬± √õ∂M fl¬±˜…Ó¬±ı˛ ˙Ó«¬&ø˘ √õ∂øÓ¬á¬± fl¬Àı˛±/

3. Answer any one question from the following: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Derive the equilibrium in Cournot Duopoly model. Does the equilibrium ensure joint profit

maximisation of the firms. 8+2=10

fl≈¬ÀÚ±« Î≈¬À˚˛±¬Ûø˘ ˜ÀÎ¬À˘ ˆ¬±ı˛¸±˜… øÚı˛+¬ÛÌ fl¬Àı˛±/ ¤˝◊ ˆ¬±ı˛¸±˜… øfl¬ Î¬◊»¬Û±fl¬ZÀ˚˛ı˛ Œ˚ÃÔ ≈̃Ú±Ù¬±ı˛ ¸Àı«±B‰¬˚˛Ú
øÚø}¬Ó¬ fl¬Àı˛∑

(b) What is Quasi rent? Is there any difference between Differential rent and Scarcity rent?

2+8=10

’Ò« ‡±ÊÚ± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ¬Û±Ô«fl¬…ÊøÚÓ¬ ‡±ÊÚ± › ≈©x±¬Û…Ó¬±ÊøÚÓ¬ ‡±ÊÚ±ı˛ ˜ÀÒ… øfl¬ Œfl¬±ÀÚ± ¬Û±Ô«fl¬…
’±ÀÂ∑
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Mention the basic idea behind the Life Cycle Hypothesis of Consumption function.

Œˆ¬±·-’À¬Ûé¬fl¬ ¸•Ûøfl«¬Ó¬ ÊœıÚ‰¬Sê Ó¬MWøÈ¬ı˛ ø¬ÛÂÀÚ ˜”˘ Ò±ı˛Ì±øÈ¬ Î¬◊À{°‡ fl¬Àı˛±/

(b) What is Marginal Efficiency of Capital?

”̃̆ ÒÀÚı˛ √õ∂±øôL√fl¬ é¬Ó¬± fl¬œ∑

(c) What is Inflationary gap?

˜≈^±¶£¬œøÓ¬ı˛ Ù“¬±fl¬ fl¬œ∑

(d) What is the shape of long-run Philips Curve?

œ‚«fl¬±˘œÚ Philips Œı˛‡±ı˛ ’±fl‘¬øÓ¬ fl¬œı˛+¬Û∑

(e) What do you mean by Classical Dichotomy?

ÒËn¬Ûœ ¶§Ó¬LaÓ¬± (Dichotomy) ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) Define natural rate of growth.

¶§±ˆ¬±øıfl¬ ı‘øX¬ı˛ ˝±ı˛-¤ı˛ ¸—:± ±›/

(g) What do you mean by Acceleration Principle?

√Qı˛ÌÓ¬MW ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(h) Define interest elasticity of investment.

øıøÚÀ˚˛±À·ı˛ ¸≈·Ó¬ ø¶öøÓ¬¶ö±¬Ûfl¬Ó¬±ı˛ ¸—:± ±›/
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2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Analyse the factors that affect the marginal efficiency of capital. 3+2=5

˜”˘ÒÀÚı˛ √õ∂±øôL√fl¬ é¬Ó¬± Œfl¬ √õ∂ˆ¬±øıÓ¬ fl¬Àı˛ ¤˜Ú øı¯∏˚˛&ø˘ øıÀù≠¯∏Ì fl¬Àı˛±/

(b) Explain the Classical and Keynesian view on unemployment.

Œıfl¬±ı˛ÀQı˛ Ò±ı˛Ì± ¸•Ûøfl«¬Ó¬ Classical ¤ı— Keynesian ˜Ó¬ı±&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) Discuss the nature and implications of the short-run Phiilips Curve.

¶§äfl¬±˘œÚ øÙ¬ø˘¬Û¸ Œı˛‡±ı˛ √õ∂fl‘¬øÓ¬ › Ó¬±ı˛ Ó¬±»¬Û˚« ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) What were the empirical findings regarding consumption function by Simon Kuznets?

Œˆ¬±·ı…˚˛ ’À¬Ûé¬fl¬øÈ¬ı˛ Œé¬ÀS ¸±˝◊˜Ú-fl≈¬ÊÀÚÈ¬¸-¤ı˛ Ó¬Ô…˜”˘fl¬ ¬Û˚«Àıé¬Ì&ø˘ fl¬œ øÂ˘∑

(e) What are the differences between Net Present Value Criterion and Marginal efficiency

of Capital theory of Investment?

øıøÚÀ˚˛±À·ı˛ ÚœÈ¬ ıÓ«¬˜±Ú ˜”˘… (NPV) › MEC Ó¬±ÀNı˛ ˜ÀÒ… Ó¬Ù¬±Ó¬&ø˘ fl¬œ fl¬œ∑

(f) Explain the Flexible Acceleration Principle of Investment. Write down two limitations of

this theory. 3+2=5

Flexible ¬øıøÚÀ˚˛±À·ı˛ Qı˛ÌÓ¬MWøÈ¬ ’±À˘±‰¬Ú± fl¬Àı˛±/ ¤˝◊ Ó¬ÀQ ≈øÈ¬ SnøÈ¬ Œ˘À‡±/

3. Answer any one question from the following: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain the Permanent Income hypothesis of consumption expenditure. 8+2=10

Œˆ¬±·ı…À˚˛ı˛ Permanent Income Ó¬MWøÈ¬ ı…±‡…± fl¬Àı˛±/

(b) Explain Harrod and Domar model of Economic growth.

Harrod ¤ı— Domar-¤ı˛ ’Ô«ÕÚøÓ¬fl¬ ı‘øX¬ı˛ Ó¬MWøÈ¬ ’±À˘±‰¬Ú± fl¬Àı˛±/

ñññññ
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